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7. CO-ORDINATE GEOMETRY 
MARCH -2015 

1. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑐𝑒𝑛𝑡𝑟𝑜𝑖𝑑 𝑜𝑓 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒, 𝑤ℎ𝑜𝑠𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑎𝑟𝑒 (3,4 ) , (−7,2) 𝑎𝑛𝑑 (10, −5) 
2. Show that the points 𝐴 (4, 2),   𝐵(7,5)𝑎𝑛𝑑 𝐶(9, 7)𝑎𝑟𝑒 𝑐𝑜𝑙𝑙𝑖𝑛𝑒𝑎𝑟. 
3. Name the shape of the quadrilateral formed by joining the points. 

𝐴 (−1, −2),   𝐵(1, 0), 𝐶(−1, 2) 𝑎𝑛𝑑𝐷(−3, 0)𝑜𝑛 𝑎 𝑔𝑎𝑝ℎ 𝑝𝑎𝑝𝑒𝑟. 𝑗𝑢𝑠𝑡𝑖𝑓𝑦 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟. 
June-2015 

4. Find the distance between the points (0,0) and (a, b) 
5. 𝐴 (3,6),   𝐵(3,2) 𝑎𝑛𝑑  𝐶(8, 2) 𝑎𝑟𝑒 𝑡ℎ𝑒 𝑣𝑒𝑟𝑡𝑡𝑖𝑐𝑒𝑠 𝑜𝑓 𝑎 𝑟𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒 𝐴𝐵𝐶𝐷. 𝑃𝑙𝑜𝑡 𝑡ℎ𝑒𝑠𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝑜𝑛 

𝑎 𝑔𝑟𝑎𝑝ℎ 𝑝𝑎𝑝𝑒𝑟. 𝐹𝑟𝑜𝑚 𝑡ℎ𝑖𝑠 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑐𝑜𝑜𝑟𝑑𝑖𝑛𝑎𝑡𝑒𝑠 𝑜𝑓 𝑣𝑒𝑟𝑡𝑒𝑥 𝐷, 𝑠𝑜 𝑡ℎ𝑎𝑡 𝐴𝐵𝐶𝐷𝑤𝑖𝑙𝑙 𝑏𝑒 𝑎 𝑟𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒.  
6. 𝑖𝑓 𝐴 (−5,7),   𝐵(−4, −50), 𝐶(−1, −6) 𝑎𝑛𝑑 𝐷(4,5)𝑎𝑟𝑒 𝑡ℎ𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑜𝑓 𝑎 𝑞𝑢𝑎𝑑𝑟𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙  

𝑡ℎ𝑒𝑛 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑡ℎ𝑒 𝑞𝑢𝑎𝑑𝑟𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙 𝐴𝐵𝐶𝐷.  
7. 𝑡ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 𝑤ℎ𝑜𝑠𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑖𝑒𝑠 𝑎𝑟𝑒 (0,0)(3,0)𝑎𝑛𝑑 (0,4)𝑖𝑠…. 

𝑨)    3 𝑠𝑞. 𝑢𝑛𝑖𝑡𝑠          B) 𝟒  𝑠𝑞. 𝑢𝑛𝑖𝑡𝑠           C)   6  𝑠𝑞. 𝑢𝑛𝑖𝑡𝑠        D)  5𝑠𝑞. 𝑢𝑛𝑖𝑡𝑠      
March -2016 

8. Find the mid point of the line segment joining the points (5,-5) and (5,-5) 
9. Show that the points 𝐴 (−3,3),   𝐵(0, 0) 𝑎𝑛𝑑  𝐶(3, −3) 𝑎𝑟𝑒 𝑐𝑜𝑙𝑙𝑖𝑛𝑒𝑎𝑟. 

10. Find the coordinates of the points of trisection of the line segment joining the points  (-3,3) and (3, -3) 
11. Slope of the line passing through (-1,-1) and (1,1) is…. 

𝑨)               − 1                B)             0             C)           3             D)            10    
June -2016 

12. If the slope of the line passing through the two  points (2,5) and (5,8) is represented by tan 𝜃 ( where 
00 < 𝜃 < 900) 𝑖𝑛 𝑡𝑟𝑖𝑔𝑜𝑛𝑜𝑚𝑒𝑡𝑟𝑦 𝑡ℎ𝑒𝑛 𝑓𝑖𝑛𝑑 𝑎𝑛𝑔𝑙𝑒 ′𝜃′. 

13. 𝐼𝑓 𝑡ℎ𝑒 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑡ℎ𝑒  𝑡𝑤𝑜 𝑝𝑜𝑖𝑛𝑡𝑠 (8, 𝑥) 𝑎𝑛𝑑 (𝑥, 8) 𝑖𝑠 2√2 𝑢𝑛𝑖𝑡𝑠 𝑡ℎ𝑒𝑛 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 ‘𝑥’ 
14. 𝐼𝑓 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝑃(−3, 9), 𝑄(𝑎, 𝑏)𝑎𝑛𝑑 𝑅(4, −5)𝑎𝑟𝑒 𝑐𝑜𝑙𝑙𝑖𝑛𝑒𝑎𝑟 𝑎𝑛𝑑 𝑎 +  𝑏 = 1, 

𝑡ℎ𝑒𝑛 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒𝑠 𝑜𝑓 𝑎 𝑎𝑛𝑑 𝑏.  
MARCH- 2017 

15. 𝐴 = (0, 3), 𝐵(𝑘, 0)𝑎𝑛𝑑 𝐴𝐵 = 5 . 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑝𝑜𝑠𝑖𝑡𝑖𝑣𝑒 𝑣𝑙𝑢𝑒 𝑜𝑓 𝑘.  

16. Two verticies of a triangle are (3,2 ) (-2,1) and its centroid (
5

3
,

−1

3
). 

𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑡ℎ𝑖𝑟𝑑 𝑣𝑒𝑟𝑡𝑒𝑥 𝑜𝑓 𝑡ℎ𝑒 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒.  
17. The points C and D are on the line segment joining A(-4,7) and B(5, 13) such that AC=CD=DB. Then find 

coordinates of points C and D. 
18. (𝑥, 𝑦) (2,0)(3,2) 𝑎𝑛𝑑 (1,2 ) 𝑎𝑟𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑖𝑒𝑠 𝑜𝑓 𝑎 𝑝𝑎𝑟𝑎𝑙𝑙𝑒𝑙𝑔𝑟𝑜𝑚, 𝑡ℎ𝑒𝑛 (𝑥, 𝑦)   =  … (  ) 

                      𝑨)           (0, 0)     B)       4, 8)                   C)      (1,0)                  D)    (5,0)            

𝑴𝒂𝒓𝒄𝒉 − 𝟐𝟎𝟏𝟖 
19. Find the distance between the points (1, 5) and (5, 8) 
20. In the diagram on a lunar eclipse, if the positions sun , Earth and Moon are shown by (-4,6), (k, -2) and 

 (5, -6) respectively, then find the value of k. 
21. Find the points of trisection of the line segment joining the points (-2, 1) and (7, 4)                     (4 Marks) 

June – 2017 

22. Determine “ x” if the slope of the line  joining the two points (4, x) (7,2) is 
8

3
 

23. The area of triangle is 18 sq. units, whose vertices are (3,4), (−3, −2) 𝑎𝑛𝑑 (𝑝, −1); then find he value of p. 

June 2018 
24. What is the other end of the diameter of the circle, whose center is (1,2) and one end point of the diameter is (3,4) 

25. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑐𝑜𝑜𝑟𝑑𝑖𝑛𝑎𝑡𝑒𝑠 𝑜𝑓 𝑝𝑜𝑖𝑛𝑡 𝑤ℎ𝑖𝑐ℎ 𝑑𝑖𝑣𝑖𝑑𝑒𝑠 𝑡ℎ𝑒 𝑠𝑒𝑔𝑚𝑒𝑛𝑡 𝑗𝑜𝑖𝑛𝑖𝑛𝑔 (2,3) 𝑎𝑛𝑑 (−4,0) 𝑖𝑛 1: 2  
26. 𝑠ℎ𝑜𝑤 𝑡ℎ𝑎𝑡 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝐴(−1, −2), 𝐵 = (4, 3), 𝐶(2, 5)𝑎𝑛𝑑 𝐷(−3, 0)𝑖𝑛 𝑡ℎ𝑒𝑎𝑡 𝑜𝑟𝑑𝑒𝑟 𝑓𝑜𝑟𝑚 𝑎 𝑟𝑒𝑐𝑡𝑎𝑛𝑔𝑙𝑒.  

𝑴𝒂𝒓𝒄𝒉, 𝑱𝒖𝒏𝒆 − 𝟐𝟎𝟏𝟗 
1. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑐𝑒𝑛𝑡𝑟𝑜𝑖𝑑 𝑜𝑓 𝑎 𝛥𝑃𝑄𝑅, 𝑤ℎ𝑒𝑛 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑎𝑟𝑒 𝑃(1, 1), 𝑄(2, 2), 𝑅(– 3, – 3). (𝑀’19)  
2. 𝐷𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑒 ‘𝑥’ 𝑠𝑜 𝑡ℎ𝑎𝑡 2 𝑖𝑠 𝑡ℎ𝑒 𝑠𝑙𝑜𝑝𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑙𝑖𝑛𝑒 𝑝𝑎𝑠𝑠𝑖𝑛𝑔 𝑡ℎ𝑟𝑜𝑢𝑔ℎ 𝐴(–  2, 4) 𝑎𝑛𝑑 𝐵(𝑥, – 2). (𝐽’19)  
3. 𝐴𝑘ℎ𝑖𝑙𝑎 𝑠𝑎𝑦𝑠, “𝑝𝑜𝑖𝑛𝑡𝑠 𝐴(1, 3), 𝐵(2, 2), 𝐶(5, 1) 𝑎𝑟𝑒 𝑐𝑜𝑙𝑙𝑖𝑛𝑒𝑎𝑟”. 𝐷𝑜 𝑦𝑜𝑢 𝑎𝑔𝑟𝑒𝑒 𝑤𝑖𝑡ℎ 𝐴𝑘ℎ𝑖𝑙𝑎 ?  𝑊ℎ𝑦?  
4. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑟𝑎𝑡𝑖𝑜 𝑖𝑛 𝑤ℎ𝑖𝑐ℎ 𝑋 –  𝑎𝑥𝑖𝑠 𝑑𝑖𝑣𝑖𝑑𝑒𝑠 𝑡ℎ𝑒 𝑙𝑖𝑛𝑒 𝑠𝑒𝑔𝑚𝑒𝑛𝑡 𝑗𝑜𝑖𝑛𝑖𝑛𝑔 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (2, – 3)𝑎𝑛𝑑 (5, 6).  

𝑇ℎ𝑒𝑛 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒 𝑖𝑛𝑡𝑒𝑟𝑠𝑒𝑐𝑡𝑖𝑛𝑔 𝑝𝑜𝑖𝑛𝑡 𝑜𝑛 𝑋 –  𝑎𝑥𝑖𝑠. (𝑀’19). 
5. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑡ℎ𝑒 𝑅ℎ𝑜𝑚𝑏𝑢𝑠 𝐴𝐵𝐶𝐷, 𝑤ℎ𝑜𝑠𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑎𝑟𝑒 𝑡𝑎𝑘𝑒𝑛 𝑖𝑛 𝑜𝑟𝑑𝑒𝑟,  

𝑎𝑟𝑒 𝐴(–  1,1), 𝐵(1, – 2), 𝐶(3, 1), 𝐷(1, 4). (𝐽’19) 
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Practice Problems 

1. 𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝐴(4,0) 𝑎𝑛𝑑 𝐵(−4,0) ? 
2. 𝑊ℎ𝑎𝑡 𝑖𝑠 𝑡ℎ𝑒 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝐴(7, −2) 𝑎𝑛𝑑 𝐵(−2,10) ? 
3. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝑜𝑟𝑖𝑔𝑖𝑛 𝑎𝑛𝑑 𝐴(−3, −7) ? 
4. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝐴(2, −5) 𝑎𝑛𝑑 𝐵(−1,4) ? 
5. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝐴(3,2) 𝑎𝑛𝑑 𝐵(5, −3) ? 
6. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑚𝑖𝑑𝑝𝑜𝑖𝑛𝑡 𝑜𝑓 𝑙𝑖𝑛𝑒 𝑠𝑒𝑔𝑚𝑒𝑛𝑡 𝑗𝑜𝑖𝑛𝑖𝑛𝑔 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (−7,3) 𝑎𝑛𝑑 (−1, −4) ? 
7. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑐𝑒𝑛𝑡𝑟𝑜𝑖𝑑 𝑜𝑓 𝑡ℎ𝑒 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 𝑤ℎ𝑜𝑠𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑎𝑟𝑒 (2, −5), (−8,4), 𝑎𝑛𝑑 (0, −2) ? 
8. 𝑇ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (2,3), (𝑥, 𝑦)𝑎𝑛𝑑 (3, −2)𝑎𝑟𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑜𝑓 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒. 𝐼𝑓 𝑡ℎ𝑒 𝑐𝑒𝑛𝑡𝑟𝑜𝑖𝑑  

𝑜𝑓 𝑡ℎ𝑖𝑠 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 𝑖𝑠  𝑎𝑔𝑎𝑖𝑛(𝑥, 𝑦), 𝑓𝑖𝑛𝑑 (𝑥, 𝑦) ?  
9. 𝑇ℎ𝑒 𝑒𝑛𝑑 𝑝𝑜𝑖𝑛𝑡𝑠 𝑜𝑓 𝑙𝑖𝑛𝑒 𝑎𝑟𝑒 (−1,3) 𝑎𝑛𝑑 (4,6). 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑠𝑙𝑜𝑝𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑙𝑖𝑛𝑒 ? 
10. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑠𝑙𝑜𝑝𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑙𝑖𝑛𝑒 𝐴𝐵 𝑤𝑖𝑡ℎ 𝐴(−2, −5) 𝑎𝑛𝑑 𝐵(−7,2) ? 

2 MARKS QUESTIONS 
11. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝐴(−5,3) 𝑎𝑛𝑑 𝐵(−2,1) ? 
12. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡 𝑜𝑛 𝑥 − 𝑎𝑥𝑖𝑠 𝑤ℎ𝑖𝑐ℎ 𝑖𝑠 𝑒𝑞𝑢𝑖𝑑𝑖𝑠𝑡𝑎𝑛𝑡 𝑓𝑟𝑜𝑚 (2, −5) 𝑎𝑛𝑑 (−2,9) ? 
13. 𝐼𝑓 𝑡ℎ𝑒 𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 𝑏𝑒𝑡𝑤𝑒𝑒𝑛 𝑡𝑤𝑜 𝑝𝑜𝑖𝑛𝑡𝑠 (𝑥, 7) 𝑎𝑛𝑑 (1,15) 𝑖𝑠 10. 𝐹𝑖𝑛𝑑 𝑥 ? 
14. Find the radius of the circle whose Centre is (3,2) and passes through (-5,6)? 
15. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑐𝑜𝑜𝑟𝑑𝑖𝑛𝑎𝑡𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡 𝑤ℎ𝑖𝑐ℎ 𝑑𝑖𝑣𝑖𝑑𝑒𝑠 𝑡ℎ𝑒 𝑙𝑖𝑛𝑒 𝑠𝑒𝑔𝑚𝑒𝑛𝑡 𝑗𝑜𝑖𝑛𝑖𝑛𝑔 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 

 (4, − 3) 𝑎𝑛𝑑 (8,5) 𝑖𝑛 𝑡ℎ𝑒 𝑟𝑎𝑡𝑖𝑜 3: 1 𝑖𝑛𝑡𝑒𝑟𝑛𝑎𝑙𝑙𝑦?  
16. In what ratio does the point (-4,6) divide the line segment joining the points A(-6,10) and B(3,-8) ? 
17. Find the ratio in which the y-axis divide the line segment joining the points (5,-6) and  (1,-4). Also find the point of 

trisection.? 

18. Find the area of triangle whose vertices are (1,-1),(-4,6) and (-3,-5).? 
19. Find the area of triangle formed by the points A(5,2) , B(4,7) and C(7,-4).? 
20. The points (3,-2),(-2,8) and (0,4) are three points in a plane.  Show that these points are collinear ? 
21. 𝑉𝑒𝑟𝑖𝑓𝑦 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (1,5), (2,3) 𝑎𝑛𝑑 (−2, −1) 𝑎𝑟𝑒 𝑐𝑜𝑙𝑙𝑖𝑛𝑒𝑎𝑟 𝑜𝑟 𝑛𝑜𝑡 ? 
22. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑣𝑎𝑙𝑢𝑒 𝑜𝑓 𝑏 𝑓𝑜𝑟 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (1,2) (−1, 𝑏) 𝑎𝑛𝑑 (−3, −4) 𝑎𝑟𝑒 𝑐𝑜𝑙𝑙𝑖𝑛𝑒𝑎𝑟 ? 
23. 𝐷𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑒 𝑡ℎ𝑒 𝑥 𝑠𝑜 𝑡ℎ𝑎𝑡 2 𝑖𝑠 𝑡ℎ𝑒 𝑠𝑙𝑜𝑝𝑒 𝑜𝑓 𝑡ℎ𝑒 𝑙𝑖𝑛𝑒 𝑡ℎ𝑟𝑜𝑢𝑔ℎ 𝑃(2,5) 𝑎𝑛𝑑 𝑄(𝑥, 3)? 

4 MARKS QUESTIONS 
24. 𝑆ℎ𝑜𝑤 𝑡ℎ𝑎𝑡 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝐴(4,2), 𝐵(7,5), 𝐶(9,7)𝑎𝑟𝑒 𝑙𝑖𝑒 𝑜𝑛 𝑎 𝑠𝑎𝑚𝑒 𝑝𝑙𝑎𝑛𝑒? 
25. 𝑆ℎ𝑜𝑤 𝑡ℎ𝑎𝑡 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (1,7), (4,2), (−1,1)𝑎𝑛𝑑 (−4,4)𝑎𝑟𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑜𝑓 𝑠𝑞𝑢𝑎𝑟𝑒 ? 
26. Find a relation between x and y such that the point (x,y) is equidistant from the points (7,1) and (3,5)? 
27. 𝐹𝑖𝑛𝑑 𝑎 𝑝𝑜𝑖𝑛𝑡 𝑜𝑛 𝑡ℎ𝑒 𝑦 − 𝑎𝑥𝑖𝑠 𝑤ℎ𝑖𝑐ℎ 𝑖𝑠 𝑒𝑞𝑢𝑖𝑑𝑖𝑠𝑡𝑎𝑛𝑡 𝑓𝑟𝑜𝑚 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝐴(6,5) 𝑎𝑛𝑑 𝐵(−4,3)? 

28. 𝑆ℎ𝑜𝑤 𝑡ℎ𝑎𝑡 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝐴(𝑎, 𝑜), 𝐵(−𝑎, 𝑜), 𝐶(0, 𝑎√3) 𝑎𝑟𝑒 𝑓𝑜𝑟𝑚 𝑎𝑛 𝑒𝑞𝑢𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒? 
29. 𝑆ℎ𝑜𝑤 𝑡ℎ𝑎𝑡 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (−4, −7), (−1,2), (8,5) 𝑎𝑛𝑑 (5, −4) 𝑎𝑟𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑜𝑓 𝑟ℎ𝑜𝑚𝑏𝑢𝑠. ? 
30. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑐𝑜𝑜𝑟𝑑𝑖𝑛𝑎𝑡𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝑜𝑓 𝑡𝑟𝑖𝑠𝑒𝑐𝑡𝑖𝑜𝑛 𝑜𝑓 𝑡ℎ𝑒 𝑙𝑖𝑛𝑒 𝑠𝑒𝑔𝑚𝑒𝑛𝑡 𝑗𝑜𝑖𝑛𝑖𝑛𝑔 

 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝐴(2, − 2) 𝑎𝑛𝑑 𝐵(−7,4)? 

31. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑐𝑜𝑜𝑟𝑑𝑖𝑛𝑎𝑡𝑒𝑠 𝑜𝑓 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝑜𝑓 𝑡𝑟𝑖𝑠𝑒𝑐𝑡𝑖𝑜𝑛 𝑜𝑓 𝑡ℎ𝑒 𝑙𝑖𝑛𝑒 𝑠𝑒𝑔𝑚𝑒𝑛𝑡 𝑗𝑜𝑖𝑛𝑖𝑛𝑔  
𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝐴(2,6) 𝑎𝑛𝑑 𝐵(−4,8)?  

32. 𝑆ℎ𝑜𝑤 𝑡ℎ𝑎𝑡 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (7,3), (6,1), (8,2) 𝑎𝑛𝑑 (9,4) 𝑎𝑟𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑜𝑓 𝑝𝑎𝑟𝑎𝑙𝑙𝑒𝑙𝑜𝑔𝑟𝑎𝑚. ? 
33. 𝐼𝑓 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝐴(6,1), 𝐵 (8,2), 𝐶(9,4)𝑎𝑛𝑑 𝐷(𝑝, 3)𝑎𝑟𝑒 𝑡ℎ𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑜𝑓  𝑎 𝑝𝑎𝑟𝑎𝑙𝑙𝑒𝑙𝑜𝑔𝑟𝑎𝑚, 𝑓𝑖𝑛𝑑 𝑝?  
34. 𝐼𝑓 𝐴(−5,7), 𝐵(−4, −5), 𝐶(−1, −6)𝑎𝑛𝑑 𝐷(4,5)𝑎𝑟𝑒 𝑡ℎ𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑜𝑓 𝑎 𝑞𝑢𝑎𝑑𝑟𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙 , 

𝑡ℎ𝑒𝑛 𝑓𝑖𝑛𝑑 𝑡ℎ𝑒  𝑎𝑟𝑒𝑎 𝑜𝑓 𝑞𝑢𝑎𝑑𝑟𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙 𝐴𝐵𝐶𝐷?  

35. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 𝑤ℎ𝑜𝑠𝑒 𝑙𝑒𝑛𝑔𝑡ℎ𝑠 𝑜𝑓 𝑠𝑖𝑑𝑒𝑠 𝑎𝑟𝑒 15𝑚, 17𝑚, 21𝑚, 𝑢𝑠𝑒 𝐻𝑒𝑟𝑜𝑛’𝑠 
𝑓𝑜𝑟𝑚𝑢𝑙𝑎 𝑎𝑛𝑑 𝑣𝑒𝑟𝑖𝑓𝑦 𝑦𝑜𝑢𝑟 𝑎𝑛𝑠𝑤𝑒𝑟 𝑏𝑦 𝑢𝑠𝑖𝑛𝑔 𝑡ℎ𝑒 𝑓𝑜𝑟𝑚𝑢𝑙𝑎 𝐴 =  ½ 𝑏ℎ ? 

36. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 𝑓𝑜𝑟𝑚𝑒𝑑 𝑏𝑦 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (0,0), (4,0), (4,3) 𝑏𝑦 𝑢𝑠𝑖𝑛𝑔 𝐻𝑒𝑟𝑜𝑛’𝑠 𝑓𝑜𝑟𝑚𝑢𝑙𝑎 ? 
37. Find the area of a triangle formed by joining midpoints of the sides of the triangle whose vertices are  

(0, −1), (2,1), 𝑎𝑛𝑑 (0,3). Find the ratio of this area to the area of the given triangle.? 
38. 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑞𝑢𝑎𝑑𝑟𝑖𝑙𝑎𝑡𝑒𝑟𝑎𝑙 𝑤ℎ𝑜𝑠𝑒 𝑣𝑒𝑟𝑡𝑖𝑐𝑒𝑠 𝑎𝑟𝑒 (−4, −2), (−3, −5), (3, −2) 𝑎𝑛𝑑 (2,3)? 

𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑎𝑟𝑒𝑎 𝑜𝑓 𝑎 𝑡𝑟𝑖𝑎𝑛𝑔𝑙𝑒 𝑓𝑜𝑟𝑚𝑒𝑑 𝑏𝑦 𝑡ℎ𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 (2,3), (−1,3), (2, −1) 𝑏𝑦 𝑢𝑠𝑖𝑛𝑔 𝐻𝑒𝑟𝑜𝑛’𝑠 𝑓𝑜𝑟𝑚𝑢𝑙𝑎 
 


